" lncarGuideway ) W Lincar Guideway

1.22 BRC-RO/LR, BRD-RO/LR

|

=
|

Z

T s y
Z
%c k:x L%,
N 4-MQ
= : 2] )
1, [T o ®
@ @

Assembly BR block BR rail Ref.Data Basic Load Rating Static Moment Weight
Model No. () (i) (i) Model No. (mm) (Kgf) (Kgf*m)
H W W2 L1 Oil hole dxDxh Lmax (%) (Co) My Block(Kg) Rail(Kg/m)

BRC15R0 66 BRC15R0
—BRO1SR0 | 28 | 3 |95 |46 gs—{26x26 | M4x6 40 63 |83|5 |15 14|60 |45x7.5x5.8 ST 4000 20 850 1350 10.1 6.8 6.8 0.19 14
% Z'g 32x36 4838 % 1400 | 2400 24 14.6 14.6 031
B B e M5x8 M6x1 7 |156(20 | 18 | 60 | 6x9.5x9.0 e e 20 26
TEttiiih ] e 2 634 s 1650 3000 30 238 23.8 047
% 3: 35x35 57 % 1950 | 3200 36.8 2238 2238 045
—————— 40| 48 |125 | 7 M6x10 M6x1 11.8 |115.6 | 23 | 22 | 60 7x11x9.5 ————————— 4000 20 36

BRC25LR 101 [ o 701 BRC25LR P
T BRD25LR | 1001 X . W 2600 52.9 45.5 45.5 0.56

BRC30R0 109

BRD30R0 g9 | 40x40 2 i:::gggzg 2850 | 4800 67.2 432 432 091
Tercsiie. 0 B (e e M8x13 Méx1 |10 [156|28 | 26 | 80 | ox14x125 W 20 52
W 1213 40x60 943 W 3600 6400 89.6 75.4 75.4 152,

BRD35R0 109 | 50x50 80 BRD35R0 3850 6200 105.4 62 62 15

BRD35LR 55 |70 |18 |98 Mg oome | NON° [wgme| MOX! [ 15 |156)84| 29801 O9xidx25 BRD35LR = = 4800 8300 1411 1098 | 109.8 19 s

BRD45R0 1382 | 60x60 105 BRD45R0 6500 | 10500 | 236.3 1378 | 137.8 23

ERDASEREIN et ol | il Rk I 150750 i ciokl 201 MR i i IS kd Sl S e BRD45LR 4000 | 225 50T 43000 | 2925 2109 | 2109 28 12

Note: BR35 and BR45 are not equipped with self-lubricant parts.

YST AUTOMATION CO.,LTD. YST AUTOMATION CO.,LTD. m

75/2 Moo.12 2FL., Bangpeeyai, Bangpee, Samutprakarn 10540 T:02-316-8472-6 F:02-316-8420 E-mail:ystautomation@gmail.com 75/2 Moo.12 2FL., Bangpeeyai, Bangpee, Samutprakarn 10540 T:02-316-8472-6 F:02-316-8420 E-mail:ystautomation@gmail.com



